Kuta Software - Infinite Algebra 2 Name \L &

Geometric Sequences Date Period

Determine if the sequence is geometric. If it is, find the common ratio.
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Given the explicit formula for a geometric sequence find the first five terms and the 8th term.
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Given the recursive formula for a geometric sequence find the common ratio, the first five terms, and the
explicit formula.
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Given the first term and the common ratio of a geometric sequence find the first five terms and the

explicit formula.

15) a, =08, r=-5

-2, e mlee | Sen

O\r\‘i . C'a L"S\“‘\

16) a =1, r=2
\l 1\L-l| 'é), !Q

Crar (1\“‘\

Given the first term and the common ratio of a geometric sequence find the recursive formula and the
three terms in the sequence after the last one given.
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Given a term in a geometric sequence and the common ratio find the first five terms, the explicit formula,

and_the recursive formula.
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Given two terms in a geometric sequence find the 8th term and the recursive formula.
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